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MENSURATION - 3D Work Sheet

School Book:

Class
9 OLD 42to4.4
10 NEW 71to7.5
10 OLD 8.1to 8.4
9 NEW |3 41to45

MENSURATION -
3D

MENSURATION - 3D Work Sheet

Cube (men& FHIFID)
Lateral surface Area (in sq. units) (uéstugiiy) = 4a?
Total surface Area (in sq. units) (QorggiugiLy) = 6a
Volume (in cubic units) (se1 oieney) = a
Diagonal (cpemev &L L 1D) = J3a

Cuboid (sar&FQseiausID)
Lateral surface Area (uséstiugiiy) = 2h (I+b)
Total surface Area (in sq. units) (QTSSLILTLIL)) = 2(lb + bh +
Ih)
Volume (in cubic units) (ser oiemey) = Ixbxh
Diagonal (cpemev @il L LD) = JI2+b?+h’
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Right Circular Cylinder (Gpireu’L. 2 _(hener)
e Curved surface Area (euemerniLiyriL]) = 2zxrh
o Total surface Area (in sq. units) (QrgglLliLy) = 2zr(t
e Volume (in cubic units) (sen Sierey) = zr’h

Hollow cylinder (2_sitafLip 2_(menerm)
e Curved surface Area (suemeniiugli]) = 2z(R+r)h
o Total surface Area (in sq. units)
(QTSHSHUILITLILY) = 27(R+r)(R-r+h)
e Volume (in cubic units) (sen sjeney)= 7z(R*—r>)h

Right Circular Cone (@GpiTeul L& gnlbL))
e Curved surface Area
(ouemaILILITLIL]) = arl; l=Jr?’+n?; | =
height
Total surface Area (in sq. units)

(QTSHSHUILITLILY) = arl+7zr*> = zr(l+r)

Volume (in cubic units) (ser oleme)) = %ﬂrzh

Sphere (Gzmenib)
e Curved surface Area (suenermiLyriL])
o Total surface Area (in sq. units) (QrSsLILFLILY)

e Volume (in cubic units) (ser jeney)

Hemi sphere (sieny&B8senid)
e Curved surface Area (suenermiiLyLiL])
o Total surface Area (in sq. units) (QrsrILTLILY)

e Volume (in cubic units) (ser sjerey) = %zzﬁ
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Hollow sphere (2_diafLBp Gsmernid)
Curved surface Area (euementiLiyriL])
surface area
Total surface Area (in sq. units)
(QoTgsLILyLIL) = 47(R*+r?)
Volume (in cubic units) (ser seney) = gﬂ(R3—r3)

Hollow hemisphere (2_siefLipp SienysGasmentd)

e Curved surface Area (cueneriLyriL)
o Total surface Area (in sq. units) (QrgsrILFLIL])

e Volume (in cubic units) (sear siemey) gﬂ(RS—FS)

Frustum of right circular cone (gniblieir GenLSHewiLLD)
e Curved surface Area (euememiuyli]) =

2l (R+1)1 =yh? + (R=r)?

Total surface Area (in sq. units)

(QTSSUILITLIL) = 7l (R+r)+7R*+ zr?

Volume (in cubic units) (ser olena)) = %ﬂh[R2+r2 +Rr]

Find the TSA and LSA of the cube whose side is 21 cm
21 Qsf ussd Sleeweud OFBTWIL SOFFHITHHT GLOTHSLILITLIL
LOBWILD USSLUIUTLIEDLIS SHT6N0185.

Solution

Side of a cube (a) =21 cm

T.S.A of the cube = 6a2 sq.units = 6 x 21 x 21 cm?

= 2646 cm?

L.S.A of the cube = 4a2 sq.units

=4 x 21 x 21 sq.cm

=4 x 441 cm?

=1764 cm?
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The length, breadth and height of a cuboid are in the ratio 7:5:2.
Its volume is 35840 cm3. Find its dimensions.
RH SAFOFAIUSHHE HeTlD, DIH6EOD LOBBID 2 WFHH 6T  alHlHLD
752 el HST Har Seey 35840 QF.UFP e@iled SIFHET LHD
DI BHEM6TED  BHITEUIH.
Solution:
Let the dimensions of the cuboid be
1=7x,b=>5xand h = 2x
Given that volume of cuboid = 35840 cm?
1 x b x h=35840
(7x) (5x) (2x) = 35840

70x3 = 35840
\3 = 35840

70
x3 =512
X = 38x8x8
X =8 cm
Length of cuboid =7x =7 x 8 =56 cm
Breadth of cuboid =5x =5 x 8 =40 cm
Height of cuboid =2x =2 x 8 =16 cm

A solid right circular cylinder has radius 7 cm and height 20 cm.

Find its (i) curved surface area (ii) total surface area. (Take 7z=§)

@ FHewio GrT eu'L o memenuienr (solid right circular cylinder)
b 7 GF.15 1oppd o g 20 OF.15 eTele0, SIHE 1. eUMETLTLIL

.. . .o . . . 22 .
1. QWrHs0 UpLUUTlL SpdluiaBenBs STemlsh. (72'=76T60'[EB)

Solution

Let r and h be the radius and height of the solid right circular
cylinder respectively.

Given thatr =7 cm and h =20 cm

Curved surface area, CSA = 2 zrh

Thus, the curved surface area = 880 sq.cm

Now, the total surface area =271 (h + 1)

:2x§x7[20+7]=44x27 2 X %x 7 %20
Thus, the total surface area = 1188 sq.cm
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(APP€ L0]

The breadth of a room is twice its height, one half of its length
and the volume of the room is 512 cu.dm. Find its dimensions
R DOBUIST DBV DIHET 2 WTHMSH el BJewi(h  LOL MG,
DIHAT  HeTHHeT LUTH oBmId Sedpuier Har oeme] 512 cu.dm.
SIH6T LIFIOTemImISem6nd 6wl MlUIa D
Solution:

Suppose that the breadth of the room = x dm

Since breadth is twice the height, breadth = 2 x height

X

So, height of the room = >

Also, it is given that the breadth is half the length .
i. e, length =2 x breadth =2 x x

Since volume of the room =512 cu dm, we have
Volume of a cuboid = length x breadth x height

512:2><X><X><§

512 =x*
x=8dm
Hence, length of the room =2 x x =2 x 8 = 16dm

Breadth of the room = x =8 dm

Height of the room = gzgz 4dm

The diameter of a road roller of length 120 cm is 84 cm. If it takes
500 complete revolutions to level a playground, then find the
cost of levelling it at the cost of 75 paise per square metre. (Take
=§)
120 Q.15 moenpd, 84 GFL5 ol L(pD GHTEWIL @IH FTENEVENU
FOLILIBSHSHID ©_(hHeneeniLIdh (road roller) GQarewi(h I
alememum(hSHHL 60  FOUIUGSHSILGHBSH.  alewenwin(bd  FHL6ne6v
FoUUGSS Beuemener 500 (ppF  SBMISHeT &L  Geuemi(BLD.
alewemm (hHHLemev FWUILBGSHS @ FIOLL(HSG 75 UFT aiHld,

T

HLMeVF FOLIUBHSHS PG CFeveneld HT6wIH. (ﬁzg 61601 )

Solution:
Given thatr =42 cm, h =120 cm

Area covered by the roller in one revolution = curved surface
Area of the road roller.
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= 2 zrh
= 2x%x42x120
= 31680 cm?

Area covered by the roller in 500 revolutions = 31680 x 500
= 15840000 cm?

_ 15840000

_ 2 2=
To000L584m (10,000 cm? =1 sq.m)

75

cost of levelling per 1 sq.m = 100

Thus, cost levelling the play ground = 1581?)375 =31188.

A hollow cylinder having external radius 8 cm and height 10 cm
has a total surface area of 338 ~cm?. Find the thickness of the
hollow metallic cylinder.
Ceueliiym ouyib 8 OF5 wBBID 2 wybd 10 OF5 OG&HTEIL @
o sefLBp o (pemenuledr Gomdsh ugliuene] 338 m OCF5 SuGWD
aieNey, 2 eitef MM o Geuomd 2 (HEnemullel SHIQLOGH &HT6uIH.
Solution:

Height = 10 cm

TSA =338 » cmo.

But TSA = Area of external cylinder (CSA)

+ Area of internal cylinder (CSA)

+ Twice Area of base (ring)

20R+2mr+2m(R2-r?)

2n(Rh+rh+R?-r2)=338n

(Rh+rh+R2-r2)=169

(10x8)+(10%1)+(8)2-1r2=169

80+10r+64-12=169

—12+10r-25=0

r2—10r+25=0

(r—5)2=0

r=>5
So, thickness of metal =R-r = (8 — 5) cm =3 cm.

6 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




[STUDY CENTRE
CHENNAI

Radius and slant height of a solid right circular cone are 35 cm
and 37 cm respectively. Find the curved surface area and total

surface area of the cone. ( Take 7= 272)

R SHewio ChT e Lé gnibliler SUID OBmID FTujwgd (wemmpGui 35
Og.5 wBmID 37 GF.5 eleled &nlblllelr euemenLFLiL LOBBID OLOTSHSL!

LBLILTLIeNLS  SHTeuIsb. (7z=§6[65T55)

Solution:
Let r and I be the radius and the height of the solid right
circular cone respectively.
r=35cm, =37 cm
curved surface area = CSA = zrl =7 (35)(37)
CSA = 4070 sq.cm

Total surface area = TSA = zr[l +r]

_ §x35[37+35]

Thus, TSA = 7920 sq.cm

Let O and C be the centre of the base and the vertex of a right
circular cone. Let B be any point on the circumference of the
base. If the radius of the cone is 6 cm and if ~OBC = 60°, then
find the height and curved surface area of the cone.

O wpmb C eremuer (WepCw @ ChiTaUl L &amIbLles SigliLIE g ulesr
emDWID IoBBID o &4 elaiid. B etaiugl ouoliugdHuler el LF Smyl
allaliblled gBHamid eH LjefTerll 616iIH. nlbllel DIQUILIGSHUNT SLTLD
6 0515 wppd <OBC = 60° aefled, awmibier o wyb wwBEBID
GUEMGTTLITLIGNLIS  EbITCIINE.

Solution
Given that radius OB = 6 cmm and ~OBC = 60°.

In the right angled A OBC,

B
cos 60° = OB
BC

= BC = 08B
cos60°
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..BC = i =12cm

1
2)
Thus, the slant height of the cone, I =12 cm

In the right angled A OBC, we have

tan 60° = oc
OB

— OC= 0B tan 60°= 6+/3cm
Thus, the height of the cone, OC = 6/3 cm
Now, the curved surface area is zrl =zx6x12== 72 zcm?2 .

9. A hollow sphere in which a circus motorcyclist performs his
stunts, has an inner diameter of 7m. Find the area available to

the motorcyclist for riding. (Take 7[2%)

7 5 2 eMallL(peTen e@h 2 6iafLBm CamenHIHanlen o L LBIOTES 6
ghidserd T CuriLnT mgdbdleied gTaHFD CFWISBITT. DHdH FTEHTF
aift  gnegb  OQFuiwsd Sl HSHBD o oleafLmms  Comenddler

o I pliuylienus 85IT665T&5.(7Z’=§6[65[85)

Solution
Inner diameter of the hollow sphere, 2r = 7 m.
Available area to the motorcyclist for riding = Inner surface area
of the sphere
= 4nr’=7(2r)?
22

= —X72

Available area to the motorcyclist for riding = 154 sq.cm

The base of a prism is triangular in shape with sides 3 cm., 4 cm.
and 5 cm. Find the volume of the prism if its height is 10 cm.

R (WPHCHMemt UL LBHHO — LIS (WHCHTem  algaled 3
QF.16., 4 Oz.16. wBpD 5 F.10.UHH DleTeYHemeT OBHTEDI(HETETSHI.
W&Csmewt UL &SGHHe o wgd 10 GF5  616aIBTe0  DIHT  SH60
SleNenaISH  HemTLNIUILD.

Solution:

Given, sides of prism are 3 cm, 4 cm and 5 cm and height =10 cm

Let s be the semi-perimeter of the triangular base of the prism.
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Therefore, the area of the prism

JS(S-a)(S-b)(S-c)

= /6(6—-3)(6 - 4)(6-5)

=6sq.cm

Then volume of the prism =area of base x height
= 6x10

= 60 cu.cm

The radii of two circular ends of a frustum shaped bucket are 15
cm and 8 cm. If its depth is 63 cm, find the capacity of the bucket
in litres. ( Take 7z=§)

R BmLHHemIL  augalevrer euTemuler GoBum OBHBID  DIQUIL®
SIEIGS6T (pempGuw 15 6.5 1ommid 8 0F.10 Guevd, S 63 O&F.10

aTeNe0, DIHe Odbmeiterenemed 60 LfleL HTemIsb. (ﬂ:%)

Solution
Let R and r are the radii of the circular ends at the top and
bottom
and h be the depth of the bucket respectively.
GiventhatR=15cm ,r=8 cm and h = 63 cm.
The volume of the bucket (frustum)

= %ﬂ'h(RZ +r’+Rr)

= %x%x63x(152+82+15x8)

= 26994 cu.cm

= 26%%4Iiters (1000 cu.cm =1 litre)

Thus, the capacity of the bucket = 26.994 liters.
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13.

)

A funnel consists of a frustum of a cone attached to a cylindrical
portion 12 cm long attached at the bottom. If the total height be
20 cm, diameter of the cylindrical portion be 12 cm and the
diameter of the top of the funnel be 24 cm. Find the outer surface
area of the funnel.

T 2 (Hewemuwlar 16FH @T EeDLSHHWILID EenenibHauTnl DIHLDHSD
@ yeeder (funnel) Ourds o wgd 20 Gs16 o Hwenule
o wyh 12 G5 oB@Ib allLb 12 0515 HGW. SenLSHHemIL &6
Gopyp el 24 Q15 ereied, Lemedel Geuailiysl LFlienLs
&H6mT | (Hb.

Solution :

Let R, r be the top and bottom radii of the frustum.
Let hy, ho be the heights of the frustum and cylinder respectively.
Given that, R=12cm,r=6cm, h, =12 cm
Now, h1=20-12 =8 cm
Here, Slant height of the frustum ! = \[(R-r)?+h? units
= V%64
[=10 cm
Outer surface area = 2zrh, + z(R+r)l sq.units
= a[2rh, +(R+1)I]
7[(2x6x12)+(18x10)]

[144+180]

%x324:1018.28

Therefore, outer surface area of the funnel is 1018.28 cm?

Two cubes each of volume 216 cm3 are joined to form a cuboid
find the T.S.A of the resulting cuboid.
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)

&A1 Dlee 216 &.05.15 SlenayelTen B(H SOTFFHITHISET L §HH60
ST 1gu eieneuT sl BenentdSULBLOUTSE HlewLSHGLD HeFO\F61161H 5D 601
QTHSHL LFLenUsS SHT6wlsb.

Solution

/1

Let the side of each cube be = a. Then, a3 = 216
a-= M:GCm
Now the two cubes of side 6 cm are joined to form a cuboid. So,

A=6+6=12cm,b=6cm, h=6cm

~ TS.A=2(lb+bh+lh)
=2[12%x6) + (6 x 6) + (12 x 6)]
=2[72+36 + 72]
=2 x 180 = 360 cm?

A cone of height 24 cm is made up of modeling clay. A child
reshapes it in the form of a cylinder of same radius as cone. Find
the height of the cylinder.

sooewt  OFmewi(y Gt 24 Q.15 2 wLpeen e@h SnlbevL

RH GWHmEH DCH SUTIP6TeN T 2 (HENETUWITS LOTHBBISIMBSI. 6160760
® _(HEm6MUIe 2 _UWIJID SHT6ulHb.

cone cylinder

E—=F

=t

rcm

Solution

Let h; and hy be the heights of a cone and cylinder respectively.
Also, let r be the radius of the cone.

Given that, height of the cone h; = 24 cm; radius of the cone and

cylinder r=6cm
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Since, Volume of cylinder = Volume of cone

7zr2h2=%7zl’2|’11

hZ:%xh1 gives h2=%><24=8

Therefore, height of cylinder is 8 cm.

15. A solid sphere of diameter 6 cm is dropped into a right circular
cylindrical vessel with diameter 12 cm, which is partly filled with
water. If the sphere is completely submerged in water, how much

does the water level in the cylindrical vessel increase?
Flpenalg HewrewT HIFUULULL 12 QF.10 all L (1peTem 2 (Hewel 6llgelLl
UTHFHTHPHe0 6  QF.5. el Lapeiten @@  Hewinds  CamendHams

(PIDAUBIOTS  PPSHEF OFUISHTED, 2 (Hewel algalll UTHATHHL © Wihs
BT L LSH © _WTHMHDH HT60Ib.

Solution:
Solid sphere
Diameter of the sphere, 2r, =6 cm
. =3 cm

Cylindrical vessel
Diameter of the cylindrical vessel 2r, =12 cm

R 6 cm
Let h be the height of water raised in the cylindrical vessel.

Volume of water raised = Volume of the solid sphere

2
ﬂ'lh 572’!’2

6x6xh

4x3%3

6x6
36

36
h  =1cm
Thus, the water raised in the cylindrical vessel is 1 cm
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Work Sheet
Easy

Find the lateral surface area and total surface area of a cube of

edge 10 cm.
10 Q515 uEs SeTmeud OCEHTMIL HOIFFHITHIH A  GLOTSHSUILITLIL
LOBBILD USSLILTLINLIS ST,

The length, breadth, and height of a room are 5 m, 4 m and 3 m
respectively. Find the cost of white washing the walls of the

room and the ceiling at the rate of Rs 7.50 m?2.

R Slewpullel Herld, Sisevld OBmID 2wy wWwempGw 5 15, 4 1S
Bpb 3 LS. Sleopular  SGaufser  wBpId  CuBamenysG,
OCouelTemenuIgHd @ IF&HIT WL BHG h 7.50 aigpld  CTHS
OlFevemeuss  &H6uTL M5IUIGYLD.

The length, breadth and height of a cuboid is 120 mm, 10 cm and

8 cm respectively. Find the volume of 10 such cuboids.

QR(H SAFHTHIT [HoNld, IF6eVD B@ID 2 wyh (WwemmpGus 120 OIS,
10 Q5 BB 8 OF5 YGSb. DSOS 10  HOIFHITHIS6N 6T
BV D|6TTENAUSH  &H60TL_NSIUIALD.

The circumference of the base of a cylindrical vessel is 132 cm
and its height is 25 cm. How many litres of water can it hold?
(1000 cm3 = 1I)

® (Hewell allged UTHHTSHH  SlgliuGHuler ammene] 132 6F.16.,
© Wy 25 QF.15. eeled SDIHD THHEWeT GUILLT  SHewrewi]
GaxldHaE ewaudss (plguid? (1000 Q&5 = 160)

4 persons live in a conical tent whose slant height is 19 cm. If
each person require 22 cm? of the floor area, then find the height

of the tent.

gryug 19 g0 OsTemiL  gidl elgeud Sl MJHH60  [BTeO6UT
® oleNadlil. @(HAUHDBEG 22 F.05.15 ugly CxHeweu 6leled Fnl MJHd6T
® WIHMHD HIHSHIL_aLD.
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Moderate

A solid iron cylinder has total surface area of 1848 sq.m. Its

curved surface area is five - sixth of its total surface area. Find

the radius and height of the iron cylinder.

QU Hewlld Gy o (Hewenullesm GoTHSU  UpLiugliy 1848 &6
Guevld oIHeT  euemenuLIy, OWTSHSL UBLuglled Supsled  MbSI
LURISTGD  eledlled, @by o (hewenullest SuJld  LOBMID o Wb
STEIT6LD.

A frustum of a right circular cone has a diameter of base 20 cm,
of top 12 cm and height 3 cm. Find the area of its whole surface
and volume.

M Gy el Lgmblier Gl ssmiLddHlar &S, Ged il L miseT
wempBuw 20 QF15, 12 GF5 o wyb 3 6F.5. 6leled EenL Hewil g3 6r
QWTSHSL UBLIUPLIL LOBHBID SHeTSDI6Nen6Y  SHIT6ulsb.

The central angle and radius of a sector of a circular disc are 180°
and 21 cm respectively. If the edges of the sector are joined

together to make a hollow cone, then find the radius of the cone.
180° emwowiss  Gamewi(pld 21 OF.10 Syupd  Osmewi  eul L Gamesr

algalleorer  E(BHIDLSH SHBLIQEHT DTHIHMET BMeNIHEH  @(H  FnlDL
® (HaUTHSLILBHMH 6160160, DIHInIDLNET QLT HMHS HTCWI5H.

A lead pencil is in the shape of right circular cylinder. The pencil
is 28 cm long and its radius is 3 mm. If the lead is of radius 1

mm, then find the volume of the wood used in the pencil.

R Ouerdled GhI UL o (Hemem elgaled 2 6iTengl. GueTFled 28
Og.5 mpombd oiHet b 3 WS GueaiFedelaeT  DemLObHSH
SIT. .MU  SYTID 1 O etedlled,  GuUeIFe0  HWMFSHS
LWTUBGSSLILGBLD DISHH T H6T  DIeTTen6IDH BHT6wIH.

The radius of a sphere increases by 25%. Find the percentage

increase in its surface area.

am GamenddHer  oyb  25%  oFeflegnlung,  SIF@TEGID
UBLIUTLITeT FHAIHD HT6wIH.
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Through a cylindrical pipe of internal radius 7 cm, water flows
out at the rate of 5 cm/sec. Calculate the volume of water (in

litres) discharged through the pipe in half an hour.

7 QF.10 2 61 SUD OHTWIL 2 (Hewel algal @GpTuler auplGus 5
QF.15 / olemg GoudsshHed HewiewnfT UTUISBH. ST LD
CrrsHdHed DBGWTUI uPCw uUTWIhHSH HewiewimMel &6  DieMEN6ISH
(QILLfl6D) HITemTsb.

A cylindrical bucket of height 32 cm and radius 18 cm is filled
with sand. The bucket is emptied on the ground and a conical
heap of sand is formed. If the height of the conical heap is 24
cm, find the radius and slant height of the heap.

DGWTEVTED  HIFUILNLLL.  @(h o (hewell 6uged eumeulledr o wigib 32
CF.0 BB b 18 6F.10 DL (PIPIHID HMIUIed &
GhTaul s &nib eugaled O&HTULLILGSHBSE. Seueurm O&ml Ll L
el Smbllledl o wgb 24  0F15 9IHSmIbUIET &I BBID
FTWWTSHMHEH BT,

A solid cuboid of iron with dimensions 53 cm x 40 cm x 15 cm is

melted and recast into a cylindrical pipe. The outer and inner
diameters of the pipe are 8 cm and 7 c¢m, respectively. Find the
length of the pipe.

53 G&15 x 40 Q&5 x 15 G&.15 uflTenimsemend OCBTEIL @ Sl
SHUFHIJLD ® (Hewell  &Ugal  GOTWTSH  OBIIIQIMIDSSLILIBSH BSI.
Gomules Oeuelliym BmIb 2 61 el L (pedsBGuw 8 GF.15 oBmiId 7
OF.10. @Tuller HeTSHemHe SH6uwTL 13WaLD.

A circus tent is to be erected in the form of a cone surmounted
on a cylinder. The total height of the tent is 49 m. Diameter of the
base is 42 m and height of the cylinder is 21 m. Find the cost of
canvas needed to make the tent, if the cost of canvas is Rs.

12.50/m2. (ﬁ _ %j

QM FTHHE0  SnlMJOTedH © (Hewenulledl 10& gnlbl] SenewibhdH
AUQAI6D DIMHSBIGTENH. FmLITHH 6 CoTHSHD o wigd 4916. D6
SRLUTHSFHET el LD 4215, o (HmemlurtssHHer o wgd 21 15
Guoed 1 g6 HHaTar gHewluler allenev H.12.50 6l6N6d, &nl MJLD
SIMDEHH CHemauwmer HHHTeT  GHlewlula  alenevenuld  SHT6wIsb.

-2
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A solid sphere and a solid hemisphere have equal total surface

area. Find the ratio of their volume?

@ Hawind GCamend wBWID SHewio DMFHCHTNSHHGT  GILOTHFLI
Uyl  SFOWTEISHTE  BHIHGLTIMD  DoUBBIST  H6T  DI6V6)| 56N 60T
AP HID HT6EWIS.

Tough

A toy is in the shape of a right circular cylinder with a
hemisphere on one end and a cone on the other. The height and
radius of the cylindrical part are 13 cm and 5 cm respectively.
The radii of the hemispherical and conical parts are the same as
that of the cylindrical part. Calculate the surface area of the toy if

the height of the conical part is 12 cm.

@ Oumbeno  GBJ euL o (Hewerm eugalled @UH  (Ppenertulled
SIMTHCHTEMIPD  OBILPMDTUTED  GnlDLD  QHSGWTB 266G
® (Hewenll UG HuWler © wigld wBmId s (wemmBGw 13 0F.15 ommib
5 0F.160. emrsHGasTen IOBMID &nlbl] UGS H6iNen SJmIS6T © (hHenerL
uGSHemwil GumevGeu BHBGLID. bl UGSHulet o wigd 12 OF.16
B QHHITL Gumbentouier GoBULienL  HT6wIsb.

An iron right circular cone of diameter 8 cm and height 12 cm is
melted and recast into spherical lead shots each of radius 4 mm.

How many lead shots can be made?.

8 Q.0 @l L wipid 12 0515 o wyb GsmewiL @ &by Cbi
QLS &nlb| 2 (HSBHIULB, 4 1016 b OsTewi  Gsmem  ealgel
G BHNTS  LOTBRIWMDSESILGHBSHI 61660 61HHenen GHTen  allgel
GHWI(BHHMET 2 (HAUTHS (LPIQULD?.

Seenu’s house has an overhead tank in the shape of a cylinder.
This is filled by pumping water from a sump (underground
tank) which is in the shape of a cuboid. The sump has

dimensions 2 m X 1.5 m x 1 m. The overhead tank has its radius

of 60 cm and height 105 cm. Find the volume of the water left in

the sump after the overhead tank has been completely filled
with water from the sump which has been full, initially.
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gl il igar  GedBleney BTHOSHTL Y o (HeweT algaled o 6iTenl.
SIS b 60 OF.16 wBpd o wrd 105 Q.65 2 18 X 1.5 5 X1
5 ufloreomigemnen 2 emLuwl  @h SaIFLFeIES  SPbHlenev BT
T uilelipba BT o halu' B  GwBeoueten 2 (Hevel alg6IsH

CHTL 19 (LP(LDEDLOWIT S BIUULIUGS MBS OFHTL 5B 5H 60 AN
@aT uiled B (WpIpemWTE SHLIUSTES HHHIS. Ged CFHTL 195G
BT gmpslw LIB@ WHpeiten Bl HeT DieMen6eUdh SHT6w0IH.

The barrel of a fountain-pen cylindrical in shape, is 7 cm long
and 5 mm in diameter. A full barrel of ink in the pen will be
used for writing 330 words on an average. How many words can

be written using a bottle of ink containing one fifth of a litre?

7 Q&.15 men(eiten QT o (Hewel 6Uged 6D  GHBeweuulet &l LIb 5
W5  SUGWD. D  (PILMOWITHE6TEN  © (henenedwld  Glsmeni(h
gynamiwnsg 330 euUTTHMSHHET 6I(PSH6VTD. (H 6UILLIM6D DIbAHeL e
Umlg oD e@hH UTLIgelled o 6Terdl 61660, SDiHemerll UWeTLBSHS
615HBHMG  GUMTHENHBGIT 6I(LDSHEVTLD?

A hemispherical bowl is filled to the brim with juice. The juice is
poured into a cylindrical vessel whose radius is 50% more than

its height. If the diameter is same for both the bowl and the
cylinder then find the percentage of juice that can be transferred
from the bowl into the cylindrical vessel.

QT SmIHCsTen algeud SlewienidHen alefiby euengulled UPFFTH
Birblueengl. 2 wrsmsall. 50% oHs b OBTWIL 2 (Hewer

AaIll UTHHTSHHBS UDFFTH  LIBBLIUGSBE.  DienysGsmernid
LOBMILD ® (Themel R AN gl Q1L L_MIS6IT FLDLDTGOIT6V
HewieniHSHeV(HhFH  e6ledeNa] FHAHL LPFFIHM © (HED6T 66
USSTSIBES LTBBILGID?

The slant height of a frustum of a cone is 4 m and the perimeter

of circular ends are 18 m and 16 m. Find the cost of painting its

curved surface area at I100 per sq. m.

RT O SHHWILHHA E(H (Ppeneibelel SFmmeneyser 1815, 16 1S
BEID DIHeT FTUTD 4 15 SuGb. @ F&HF WBLLmEE I 100
AIBHID DL HHWIL HHT UeMGTUTLILI6D aUTewID LF SUGD OIoTdHSHE
OF6v6)| 6T60T60T?
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Previous Year Questions

1.

A cylindrical tank of diameter 35 cm is full of water. If 11 litres
of water is drawn off, find the drop in the water-level in the
tank.
35 cm @il L(pelTel  @(h 2 _(HeWe  GUaISHEmIenT GHTL LY  (LPIDEUSILD
HewtenfT o 6itengl. BT uiledmbal 11 LT Hewrewim eIhhslILL (B
AL . eelled, T guianiel BT L SHHed gBUGBL albFFlenwis
Hewi(HLIlg

(GROUP 1, 2015, Section 8 Mark)

Find the number of lead balls of diameter 1 cm each that can be

made from a sphere of diameter 16 cm.
16 Q&5 allL(pmrw Gasmemmiselled(hhad SHoLbGd 1 0F.10
Al L(penLwl FApslwg GHTenmisser 6161016001 HeNHMUIS  HT6I0TS.

(DEQO, 2015, Section 3 Mark)

If the volume of a right circular cone of base radius 4 cm is 16 &
cm?, then find the slant height of the cone.

SlglIHS oIl L HHeaT D 4 6F.15 Camewi @@ eul L GhiTanibLiler
B DloNa)] 167z &.0F.15. eTelled HIFHeT FTUIOUITID HIT6UOTS.

(GROUP 1, 2013, Section 3 Mark)

A. A cone, a hemisphere and cylinder have equal bases. If the
heights of the cone and the cylinder are equal and are same as
the common radius, then find the ratio of their respective
volumes.

R b, MM DwIHGHTOND IOBWID @H 2 _(Hewel SAHUIRT  FLD
Slliugiiienerds  OsTewi(BeTenel.  dnlbllell 2 _WFD. 2 (Henermuller
2 WISHBEG FTEHaD, CoeId Seiewrd DBl  UTSIBEG
FOWOTHAID  SHHST0 @D cpdiBledl ST D616 HETHEHH emL Gl
® ool AP BHHMBHE HT60IH.

B. If the volume of a solid sphere is 7241 %Cu.cm. then find its

radius (;::%j )
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QR Hewind BamendHer st ene 7241 %85.@&.@ STEIN60  DIGH6IT

Vi =§ AT HMSHD BTG,

C. A Thanjavur Toy is in the shape of a cone surmounted on a
hemisphere. If the diameter and the total height of the solid

are 21 cm and 25.5 cm respectively, then find its volume (Take
)
HehFTeYT OUTDEDLOWITEIBI DIMTHEHTNGHH T 0FH FnlbL| EeneuihdH
agaled o 6TeNgl. DIHHET 2 (hH el all LD LoBmID GoTeHs o wilb
wempBuw 21 OF.16 wB@ID 25.5 OF.10 6eled HIHeT HT DieTeN6UDH

. 22 . .
&Menis. (7 = 61601 OB TEITD )

(DEO, 2019, Section B, 15 Mark)

a. A cylindrical vessel of diameter 21 cm contains water. A metal
sphere of diameter 6 cm is lowered into the water until it is
completely immersed. By how much does the level of water
rise?

21 QF15 @ILL(Lp6iTenl 2 (HEWeTl LUTHHTHPH60 HewieniT o 6iTengl. 6
Q&5 el Lpeten e 2 Cooread Casmandhemsd SHIGT (LPDGLDLIG
Al LT6D LUTHHTHSH60 SHewiewlT LOUL LD 6l6leleTa] © Wi(HD?

b. An overhead tank has been constructed to supply water to a
village with a population of 3925 at the rate of 20 litres per
day per head. Water is pumped into it through a pipe of 5 cm
radius, the rate of flow being 4 m per sec. How long will it

take to fill the tank every morning?
QRH HITLSH HH6T CFHTemsd 3925. QHAUHSHE @H HTEN6THE
20 o0 aimb HewiewiT aIHCWTSHILSBG gBBTBGUTEL Guflw
HewieniT QBT SLLLULLL FHI. SDiSSHewieniTsd QST RHEG 5 OFLS
ST (6o GLomulet eufluims alemesh@ 4 16 Cousddled SHevteutT
CFeLFBPHI. @IGUT(H BTEHLD DSHOHTLIQUEd  HewoTewlT Hlenmul
sleleuene] Gryd ouEb? (T = 3.14)

(GROUP 1, 2022, 10 Mark)
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The radii of two right circular cylinders in the ratio of 4 : 3, and
their heights are in the ratio 3 : 5, Find the ratio of their curved

surface areas, total surface areas and volume (9 marks)
@yewih  CriTeu’L o (hewenwlal umseiar alésd  4:3  wBEID
Sleumnslest © WIJHIGH6iI6o1 Al & HIb 3:5 6160116V Sleumn3lest
auemeTLTILB6e e al&pld, OTGHS UBLUFLLSeNer al&SisHbd BB
Hewl  DleNe|HeMel alSFHD DSlUIBENBS SHT6NWISH.

(GROUP 1, 2022, 10 Mark)

A circus tent is to be erected in the form of a cone surmounted
on a cylinder. The total height of the tent is 56 m. Diameter of the
base is 42 m and height of the cylinder is 28 m. Find the cost of
canvas needed to make the tent, if the cost of canvas is Rs.
15/m?2. Also find the volume of the cylindrical part and conical

part. (15 marks)

R FTHHe0  SLMJIOTESH 2 (Hhewenule 15& dnlby Senewibhd
AYalled DIMHSIGTONS. Tl MTHHleT OIoTHSH 2 UWFd 56 15. DIH6T
SQLILTHSFH T all LD 42 15. 2 (Hewelll UTSHSHHeT o wgd 28 1.
Guoeid 1 &5 HHaTar Glewlulear alensv hH. 15 6T6lled, &nl MJLD
SIMEHGH ChHeveuulmer HHHmewt Hlewiuler allenevenuld  HTETISH.
Guenld 2 @meveTll UGS LBBID &bl  uGHuller ST D66y
SHT601b.

(GROUP 1, 2022, 10 Mark)
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